
1

mm

mmmm

2 3

zoom
FIAT 500X City look 5P (2015>) 81 mm 117 mm
MAZDA 3 5P (2013>) 48 mm 79  mm

10                                       Nm

 A  B10

Max 50 Kg

mm

mm

mm

mm

9  A

 B

 C 68.065
 FITTING INSTRUCTION

"Steel"

https://www.carid.com/g3/


4

 A
 B

 6                                        =                                        =

 8

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

5

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

mm                                     mm                                     

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

5                                       Nm

FIAT 500X City look 5P (2015>) F: 350 mm R: 400 mm
MAZDA 3 5P (2013>) F: 240 mm R: 450 mm

7
FIAT 500X City look 5P (2015>) 05 48
MAZDA 3 5P (2013>) 05 48

6X45 mm

Ø 6X18  mm

7

4805



1

mm

mmmm

2 3

zoom

10                                       Nm

 A  B

Max 50 Kg

A

B C

9 68.065
 FITTING INSTRUCTION

"Aluminium"

10

FIAT 500X City look 5P (2015>) 81 mm 117 mm
MAZDA 3 5P (2013>) 48 mm 79  mm



 4

 A
 B

 6 = =

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

5

7
FIAT 500X City look 5P (2015>) 05 48
MAZDA 3 5P (2013>) 05 48

6X45 mm

Ø 6X18  mm

7

4805

 8

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

mm                                     mm                                     

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

M6x14

F

F R
R

F

F

M6x14

F R

5Nm

M6x14

5Nm

5Nm
5Nm

5                                       Nm

FIAT 500X City look 5P (2015>) F: 350 mm R: 400 mm
MAZDA 3 5P (2013>) F: 240 mm R: 450 mm

Learn more about Roof Racks on our website.

https://www.carid.com/roof-racks.html

	Istruzione Pacific 68.065 AC.pdf
	Istruzione Pacific 68.065 AL.pdf



